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1. Introduction

The so-called character sums of polynomials means that

N+M
SO f:9) = ) x(f@),
a=N+1
where ¢ > 3 is an integer, y is any non-principal Dirichlet character modulo ¢, N and M are positive
integers with 1 < M < g, f(x) is a rational coefficient polynomial of x with degree n.

Many classic problems in analytic number theory related to the upper bound estimation of S (y, f; g).
For example, the least quadratic non-residue and the primitive root, etc. Therefore, some experts and
scholars in the number theory have studied the estimate problem of S (y, f;¢), and obtained many
meaningful results. The first thing worth mentioning is Pélya and Vinogradov’s classical work (see [1]:
Theorem 8.21 and Theorem 13.15), they proved that for any non-principal character y mod ¢, one has

the estimate
N+M

D x(@<g'ing,

a=N+1
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where the symbol A < B denotes |A| < ¢B for some constant c.

If ¢ = pis an odd prime, A. Weil [4] (or refer to D.A.Burgess [8]) obtained a general conclusion.
That is, if y is a k-th character mod p, polynomial f(x) is not a perfect k-th power mod p, then we
have the upper bound estimate

N+M

D x(F)

x=N+1

< pilnp. (1.1)

In fact, the estimate in (1.1) is the best one, it is impossible to improve the main term p% in (1.1).
Even for the minor term In p in (1.1), it is also difficult to improve, and it can not even be improved
to In" p for any fixed real number 0 < A < 1. Of course, there are many characters mod ¢ and special
polynomials f(x) (see references [5,6] for details), they satisfy the identity

= V.

q
> x (flay
a=1

For example, if p is an odd prime, for non-real character y mod p, then from the separable Gauss sums
(see the Theorem 8.19 in [1]) we have

p-1
> xayia+1)

a=1

1+ > (1+x2a)- x(a+1)

_ % I () 7 (x| = VB,

where ), denotes the Legendre symbol mod p.

For other papers related the character sums of polynomials, see [7-10], we will not list them all in
here.

In addition, we will introduce the two-term exponential sums which are used in this paper. For
integers m and n, the definition of the two-term exponential sums G(m, n, h, k; q) is

q h k

+

G(m,n,h,k;q)=2e(—m“ ”“),
q

a=0

where as usual, we abbreviate e to e(y), and h > k > 1 are integers.

In the vast majority of cases, we only consider the case 4 > 1 and k = 1. If ¢ = p is an odd prime,
these two-term exponential sums are closely related to Fourier analysis on finite fields. In this special
case, W. P. Zhang and D. Han [11] obtained an identity for the sixth power mean of the two-term
exponential sums. Some related papers can also be found in [12-15].

In this paper, we will consider the hybrid power mean involving character sums of polynomials and
two-term exponential sums

-1
X (mah + ak)

B

2 2

(1.2)

U (mb4 +b)
Ze
m=1 p

b=0

I
—

a
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For this kind hybrid power mean, if p > 3 is a prime with (3, p — 1) = 1, and for non-principal even
character y mod p, X. Y. Du [14] provided the following identity

2

pz_l pz_l)((ma3 +a)2- pz_le(mb3 +b)
m=0 | a=1 b=1 p

) o () S S,

u=1

where (i) = ) is the Legendre symbol mod p.
From Du’s [14] we may immediately deduce the asymptotic formula:

2 2
L (mb3+b)
1D
p

b=1

p-1

Z/y(mtf + a)

a=1

p-1

The mean values in Du’s [14] or in (1.2) are meaningful, that is to say, from an average of sense,
most values of these character sums of polynomials and two-term exponential sums are almost +/p. In
addition, the result in [14] shows that the size of values of these character sums of polynomials and
two-term exponential sums are complementary, from a probabilistic point of view, their product are
almost p. Of course, it would make more sense to give an exact computational formula for these kind
mean values. This is our ultimate goal and we believe it is possible.

The main purpose of this article is to illustrate this point. That is, we used the analytic methods and
the properties of the classical Gauss sums to obtain some identities and asymptotic formulas for (1.2)
with 42 = 5 and k = 1, and proved the following results.

Theorem 1. Let p be an odd prime with 4 { (p — 1). Then for any non-principal even character
x mod p (i.e., y(—1) = 1), we have the identity

~ 2
pzi (ma4 +a)
. e =
14

where y( denotes the principal character modulo p.

Theorem 2. If p is an odd prime with 4 | (p — 1), then for any fourth character y mod p (y is the
fourth character mod p if and only if there exists a character y; mod p such that y = )(‘11 # o) with
X° # xo, we have the asymptotic formula

= 2p3 + O(pz).

{ 2p°(p-1), ifx° # xo,
2 : 5 _
p(pP*-1). ifx® =x.

e Rl
m=1 |a=1 a=0 p

If y is a fourth character mod p with y° = y, then we have
3 pzl)(a+ma ”Z (ma +a) =3p’ +0( )
m=1|a=1 a=0 p
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Some notes: We have not discussed the trivial cases in the above theorems. In fact, if y is an odd
character mod p in Theorem 1 or y is not a fourth character mod p in Theorem 2, then we have the
identity
2

= 0.

-1
S v (@ + ma)
a=1

So in these cases, we have the trivial results:

p-1

ZX(aS + ma)

a=1

p-1 2

=0.

2
-1
g (ma4 + a)
2.
a=0 p
If p is a prime with 4 | (p — 1), then for any non-principal even character y mod p, whether there
exists an exact computational formula for the mean value

m=1

2

p-1|p-1

p-1 4
5 . ma +a) .
2|2 (e < ma Z( f

This is an open problem. We need to further study.
2. Some Lemmas

In this part, we introduce some elementary properties related to the classical Gauss sums 7(y) mod-
ulo g. As usual, the classical Gauss sums 7(y) are defined as

q
T(x) = Zx(a)e(g)-
a=1

Many of its properties can be found in analytic number theory textbooks, such as [1-3]. But there
are two things we need to emphasize here. If y is a primitive character mod ¢, then

q
Zx(a)e(%) = X)) and [r(0)] = VG.
a=1

By means of these properties, we can prove the following.

Lemma 1. Let p be an odd prime with p = 1 (mod 4), m be any integer with (m, p) = 1, y» = (i)
denote the Legendre symbol mod p, and 3 be a four-order character mod p. That is, 8* = x3 = xo. If
X is not a fourth character mod p, then we have

=0;

If y is a fourth character mod p and x° # yo, then we have the identity

p-1 p—1

= 4p+ xyo(m) ZX(G) 2)(2 (b56l4 - 1))(2([9 - 1)
b=1

a=1
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-1

+B(- m)ZX(a B(b’a* - 1) -1)

<

1
1
+B(- m)Z)((a B(b°a* = 1)Bb - 1);

b=1

A TS

If y is a fourth character mod p and x° = yo, then we have the identity

2 1

p-1 P- p-1
Z)((a + ma = 3p+1+)(2(m)2)((a)2)(2(b5a4—1))(2(19—1)
a= a=1 b=1
p-1
+B(- M)Z)((a > B(Pat-1)Bk-1)
b=1
p-1
+B(~ m)Z)((a B(ba* - 1)Bb - 1).
a=1 b=1

Proof. If y is not a fourth character mod p, then there exists an integer r such that r*

and y(r) # 1. So from the properties of the reduced residue system mod p we have

-1 1
pZ)((as +ma PZ:)( (ra) +mra
a=1 a=1

p-1 p-1

= x(r) Z){ (r4a5 + ma) = x(r) Z)( (a5 + ma) )

a=1 a=1

Therefore, we have the identity

p-1

2
ZX (615 + ma)
a=1

=0.

= I(modp)

2.1)

If y 1s a fourth character mod p, then note that for any integer m with (m, p) = 1 we have the identity

& (md
2]

p-1
@)+ Ba)) e[ ™
1+;(1+ﬁ(a)+ﬁ(a)+ﬁ(a))e( p)

Bm)T(B) + x2(m)t(x2) + Bm) (B).

So if x> # o, then from the properties of Gauss sums we have

i Zx(b)pje[ a +ma)]

a=

2
P

S (e + ma)

a=1

pzf(ba)pi [ba a +ma)]

2

SR

(2.2)
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p-1 p-1 bla*
- - Z)?(b)ZX(a)e( e +m))
p b=1 a=1

then expand the square and use the properties of the reduced residue system mod p we obtain

-1 p-1 -1 p-1 4 _ 4
157N )?(ba)pzp x( E)e[b(“ +m)—d(c +"")]
p b=1 d=1 a=1 c=1 p
il el (det (bat - 1)+ md (b - 1)

- LS S, S e
a=1 b=1 c=1 d=1

—1 p—1 -1 =1 4 4 _ _

_ lp p X(ag)p p e[dc (ba 1)+ md (b 1)],
p a=1 b=1 c=0 d=1 p

from the formula (2.2), the above formula is

-1 p-1
X Ze(md(b )

i
L
=

a=1 b=1 d=1
ba*=1 mod p
p—-1 p-1 p—1 _
+l ZX(GE) B(d(ba4 — 1))7’(,[_3) e(md ® 1))
P = = d=1 p
p—-1 p-1 p—1
+lzzx( E) B(d(ba4— 1))T(ﬂ)e(md(b_ 1))
P I d=1
-1 p-1 -1
+T(X2) TS X(aE)p )(z(d(ba“— 1))e(md(b— 1))
s d=1 p

Il
bS]
L
S|
L
N
—_
Q
S
A
gl
L
Q
—_
3
Q
= |
|
[a—
N
~————
I
Nl
gl
>
—_~
)
S
SN—"

a=1 b=1 d=0 a=1 b=1
ba*=1 mod p ba*=1 mod p
p-1 p-1 p-1 _
*;19 S v (ab) Y B(dwa* - 1) 7 (B)e md(’; 1>)
a=1 b=1 d=1
p—1 p-1 p-1 _
+%ZZX( b) > B(dba* - 1))T(ﬂ)e(md(b 1))
a=1 b=1 d=1
-1 p-1 -1
+T(X2) T )((ag) \ X2 (d(ba4 - 1))e(md - 1))
Pa = d=1 p
p-1 p-1 p—-1 p-1
= p x@)= > x’(a)+ x (ab) x (ba* = 1) ya(m(b - 1))
a=1 a=1 a=1 b=1
a*=1 mod p
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-1 p—-1
i’ Z 2 x(ab)B(ba’ = 1)Bm(b - 1))
a=1 b=1
T(ﬂ)T(ﬁ)’” =
> x (ab)B (ba* - 1) B (m(b - 1)). 2.3)
a=1 b=1

Since x° # xo, then we have ZZ ;11 x>(a) = 0, from (2.3) we obtain

p—1 p—1 p—1
D x(@+ma)l = 4p+xam Y x@ Y xo (bt = 1)xatb - 1)
a=1 a=1 b=1

p-1

+B(- m)Z)((a B(b*a* - 1)k - 1)

=1

-1

+B(=m) Zx(a) B(b’a* —1)Bb - 1),
a=1

b=1

'E@‘

where we have used the identity 7(8)t (B) =pB(-1)-p.

If x° = xo, then
p-1 p-1
Y@= 1=p-1,
a=1 a=1

from (2.3) we also have the identity

p—1 2 p-1 p-1
Z)((a + ma = 3p+1+)(2(m)2)((a)2)(2(b5a4—1))(2(19—1)
a=1 a=1 b=1
p-1
+B(- m)Z)((a D B(Pat-1)Bk-1)
b=1
p-1
+B(— m)Z x (@) ) B(b’a* = 1)Bb-1). (2.4)
b=1

This completes the proof of Lemma 1.
Lemma 2. Let p be an odd prime with p = 3 (mod 4), m be any integer with (m, p) = 1. If y is not
an even character mod p, then we have

p-1

Z){ ((15 + ma)

a=1

=0;

If y is an even character mod p and x° # yo, then we have the identity

p—1 2 p—1 p—1
ZX (a5 + ma) = 2p— xa2(m) Z)((a) ZXZ b5a4 — 1))(2(19 —-1);
= a=1
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If y is an even character mod p and y° = y,, then we have the identity
-1 p-1

p+1 —)(z(m)Z)((a) D (bat = 1)xab - 1.

a=1 b=1
—1, so for any odd character y mod p, we have

p-1 2

Z)((aS + ma)

a=1

Proof. If p = 3 (mod 4), then y,(—1) =

-1
= X(—l)pZ])((a5+ma): - )((a5+ma)
a=1 a=1
That is,
p-1 2
=0. (2.5

If4 4 (p—1) and y is an even character mod p with y° # o, then for any integer m with (m, p) = 1

note that

p-1 o>
e(mT)— 1 +Z(1 +)(2(a))e( » )

S ) o[

a=1

Since 4 1 (p — 1), x2(—1) = —1, then we have
-1

a ma?\ & ma*
Z)(z(a)e (7) = Z)(z(—a)e (7)

a=1

p—1 4 p—1
ma ma
()= 2 07)
a=0 p a=0 p
' ma
= 1+ Z (1 +)(z(a))e(7) = x2(m) - 7(x2), (2.6)
a=1
from the method of proving Lemma 1 we obtain
p-1 2 p=1 p-1 p-l p=l p-1
— md (b —1)
Yol ema) = 33 wlan) Y e( ") e
a=1 a=1 b=1 d=0 a=1 b=1
ba*=1 (mod p) ba*=1 (mod p)

Volume 6, Issue 10, 10989-11004.
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1 et _ bzl (et (ba* — 1) +md (b - 1)
+— Z )((ab) e ( ) .
L =0 d=1 p
p (ba4—1)
In the above formula, use equation (2.6) for }.” :_é e (d(b“;—_l)&) we have
p-1 2
Z){ (a5 + ma)
a=1
- ) e - - md (b — 1)
= 2p-— ZX(CIS) + 22 X(ab)/\(z (ba4 - 1) Z)(z(d)e(—)
a=1 p a=1 b=1 d=1 p
p—1 p—1
= 2p = x2(m) x@x2 (Pa* = 1) xab - 1), 2.7)
a=1 b=l

where we have used 72 (y») = —p, if p = 3 (mod 4).
Similarly, if y is an even character mod p with y° = yj, then from the method of proving (2.7) we

have
2

-1 p-1

=p+l-xam) ) ) x@x:(b°a* = 1)xa(b - D). (2.8)
1

S
S

p-1

Z)((aS + ma)

a=1

l
—_
S
I

a

According to (2.7) and (2.8) we deduce Lemma 2.
Lemma 3. Let p be an odd prime, then we have the identity

:{p(p—3), if4|(p-1),
pp—1), ifdt(p-1).

Proof. In fact, for any positive integer g > 1, from the trigonometric identity
q .
Z . nm q, if g | n,
— 0, ifgtn

and the properties of the reduced residue system mod p we have

p-1|p-1 4 p-l p-l 4
ma’ +a ma’ +a
S e -5 5
m=0 | a=0 p m=0 a=1 P
p—-1 p-1 4 p—-1 p-1 4
ma’ +a —-ma —a
R
a=1 m=0 p a=1 m=0 p
plotot (mb*(a* = 1)+ ba—1)
+ e
a=1 b=1 m=0 p
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o & (bla-1 S
= p+p Z Ze( )=p+p(p—1)—p Z 1
a=1 b=1 p a=2
a*=1 (mod p) a*=1 (mod p)

{P(p—3), if4](p-1),
pip=1), ifdt(p-1).

This proves Lemma 3.
Lemma 4. Let p be an odd prime with p = 1 (mod 4). Then for any four-order character A mod p,
we have the identity

-1
Z A(m)

m=1

2

_ [ —2-10m) -7 (2), if81(p- 1),
0, it 84 (p—1).

pz_i (ma4 + a)
e
a=0 p

Proof. Note that A* = y, the principal character mod p. Then expand the square we have

p-1 p-1 p-1

pia( )pz_l (’"“4”)2 > A + A(m) (m“4+“)
m e = m m)e
m=1 a=0 p m=1 a=1 m=1
p—1 p-1 e p=1 p-1 p-1 mb*(a* = 1)+ ba—-1)
£y A(m)e(m) + > /l(m)e( («-1) ,
a=1 m=1 p a=1 b=1 m=1 p
From the separability of Gauss sums and the trigonometric identity, the above formula is
el a el —a
) > A (a)e (—) + A(=1)1(D) Z 1 (a)e (—)
a=1 p a=1 p

+7(4)

p-1 p-1

Afa* - 1)Zf(b)e(b(ap_ 1))
1

a b=1

1
= —7() = A=-D7(D) - 7D pZ:Z(“‘l - 1)’
a=1

Decrease the power of a in the above formula we get

p-1 p—1 4 2
+
Z /l(m) Z e (ma 61)
m=1 a=0 p
p-1

= —7() = A=D1 = 7(1) Y (1+ Aa) + xa(a) + Aa)) A(a— 1)
=1

)

-1 -1

p-1
= —1() ) Aa-1D-71() ) Al -a)-1(D) Z x2(@)A(a - 1)

a=1

S
<

(=]

Q
—_ o
Q

1) Y Aa)Aa-1)

a=

<

—_

AIMS Mathematics Volume 6, Issue 10, 10989-11004.
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1 -1
_Zﬂ(b)Z)(z(a)e(b(a 1)) pz/i(b)iz(a)e(b(al; 1))

1 a=1

—A=Dr(2)7 (2) - (2)7 (1) (2.9)

Note that A(-1) = -1, if4 | (p—1and 8 ¥ (p — 1); A(-1) = 1,if 8 | (p — 1). From (2.9) we may
immediately deduce Lemma 4.
Lemma 5. Let p be an odd prime with p = 1 (mod 4), then we have

-1 -1 2
pZ)(g(m) ”Z e (ma;+ a) =-A(-1) (Tz(/l) + 72 (ﬁ)) ,
m=1 a=0

where A is any four-order character mod p.
Proof. Note that y,(—1) = 1, from the method of proving Lemma 4 we have

p-1 p—1 p—1 p-1
> xatm) Ze(’"“ ”‘) Z){z(m)+ZZXz(m)e( —md )
m=1 a=0 =1 a=1 m=1
=1 p-1 4 p=1 p=1 p-1 b*(a* - 1)+ ba-1
. )(z(m)e(ma +a)+z Xz(m)e(m (d )+ (a ))
a=1 m=1 p a=1 b=1 m=1 p

p-1
= —27(x2) — 7(x2) ZXz (614 - 1)
a=1

p-1
= —21(x2) — T(x2) Z (1 + @) + x2(@) + A@) x2 (a = 1)
a=1

p-1

= —2(r2) — T(x2) | D xala— 1) + Z Aaya(a—1)+ Z)(z(l —a)+ Z Aaya(a—1)

=1

= —A-D(7’ (/l)+T (7).

where we have used

p-1 p-1
Daa-1+ > o -a) = - - () = -

a=1 a=1
and
- & . b(a -1
> Mapa(a—1) = - )Z )Z){z(b) ( (“p ))
i _
= — b A
i 2 g ()]

AIMS Mathematics Volume 6, Issue 10, 10989-11004.
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T
= ;xZ<b)A<b>e .

_ @ =

= ) A=1D1(x21)
72(2)

= A(-1 }

( )T(X 2)

This proves Lemma 5.
Lemma 6. Let p be an odd prime with p = 3 (mod 4), then we have the identity

p-1 p—1 4 2
ma* + a
Dt Sye ")
m=1 a=0 p
Proof. Note that y,(—1) = —1, from the properties of the complete residue system mod p we have

S - el
pzie(—ma —a) me) Z (ma +a)

a=0

=0.

Z){z(m)

m=1

= —Z)(z(m)
m=1

So that we have

The lemma 6 is proved.
Lemma 7. Let p be an odd prime with p = 1 (mod 4). Then for any non-principal fourth character
x mod p, we have the estimate

p-1 2

Z}((a)Z)(z (Ba* = 1)xatb - 1)

a=1

< p?,

Z)((a)z A(p°a* - 1) a0 - 1)

where A is any four-order character mod p.
Proof. Since 4 | (p — 1), so it is clear that there exists an integer | < r < p — 1 such that
= 1 (mod p) and 1 + A(r) + /l(rz) + /l(r3) = 0. For any integer m with (m, p) = 1, note that
A(m) + Aamr) + A(r*m) + A(r*m) = Am) (1 + A0) + A0?) + A(*)) = 0, from Lemma 1 we know that
for any fourth character y mod p with )(5 # Yo, we have the identity

—1 -1

\ )(a+ma S a+mra +p)(a+mra
S @ +mria)| = = 16p, (2.10)
Y )
a=1

AIMS Mathematics Volume 6, Issue 10, 10989-11004.
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where we have used the following identity
L+ x2(r) + x2(r?) + x2(rY) = 2+ 2x2(r) = 0
which is because that
1+A(r) + /l(rz) + /1(1’3)
L+ A(r) + x2(r) + x2(r)A(r)
(I + A0 + x2(r) =0

where A(r) = 1, then y,(r) = —1.
Therefore, fori = 0, 1, 2, 3, applying (2.10) we have the estimate

p-1 2

Z){((ls + mria)

a=1

< 16p. (2.11)

On the other hand, note that 23(m) = A(m) and A2(m) = X2(m), applying Lemma 1 and the identity
1+A0r)+ A (rz) +1 (r3) = 0 we also have

-1
pZ)( (a5 + I’I’lCl pz Cl + mra
B p- p-l 4
Z a +mr’ a + )((a + mr3a)
o o a=1 ,
= 64p” +4|> x(a) Z)(z (b°a" = 1) xa(b - 1)
a=1 b=1
- _ 2

Z ) A(ba* 1) A - 1)

a=1 b=1

(2.12)

Combining (2.11) and (2.12) we can get the estimate

2

p-1 p-1
Z){(a)Z)(z (P’ =)= D)| + Z)((a)z A(’a* = 1) A6 - 1| < p”
a=1 b=1 a=1 b=1

This proves Lemma 7.
3. Proofs of the Theorems

Now we shall prove our main results. First we prove Theorem 1. If 4 1 (p — 1), then for any even
character y mod p with y° # yo, from Lemma 2, Lemma 3 and Lemma 6 we have

2 2 2
a (ma4 +a) 2! (ma4 +a)
12 2.
a=0 p p

a=0
AIMS Mathematics Volume 6, Issue 10, 10989-11004.
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p—1

Sl o

a=1

p—1

2,

m=1
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Zx(a)ZXz (b%a* = 1) xab - 1)

-1
4 ma4+a
e
P b=1

= 2p°(p-1). G.D

Similarly, if y(—1) = 1 and x° = yo, then from Lemma 2, Lemma 3 and Lemma 6 we also have

g ok [ ma* + a ’
ZZ/\((a5+ma) -Ze( » ) :p(pz—l). 3.2)
m=1 |a=1 a=0

Combining (3.1) and (3.2) we proved Theorem 1.
Proof of Theorem 2. If 4 | (p — 1), then for fourth character y mod p with x> # v, from Lemma 1

we have
2

gl e 2 (mat +a 25 (mat +a
)( a + ma e ) =4p- Z e( )
m=1 |a=1 a=0 m=1|a=0
o B (ma* +a\| (& —
+ ) xa(m) Ze( p ) [Z}((@Z){z (Ba* = 1)xa(b - 1)]
m=1 a=0 a= b=1
p—1 p—1 p—1 p—1
+ > A=m) Ze(m" TS x@ Y At - 1) - 1)
m=1 a=0 a=1 b=1
p-1 p-1 2 (p-1 p-1
+ S A=m) | e (m“ Ta x@ Y A(pat - 1)Ab -1 (3.3)
m=1 a=0 p a=1 b=1

If 8—(p-1), put the results of the Lemma 3, Lemma 4, Lemma 5 and Lemma 7 into (3.3) we obtain

p-1

Z)( a +ma

a=1

p-1

2 2
pzi (ma4+a)
. e
P

a=0

m=1
p-

p-1
= 4p-p(p-3) - (W) + Q) [Z){ @ ) x2(b°a* = 1)xa(b - 1)}
a=1

1
b=1

p-1 p-1

—27(x2)7(D) [Z x (@) ) A(b°a* - 1) - 1)]
a=1 b=1
1 p-1

.
—27(x2)7(1)

a=1

= 4p*(p-3)+0(p’).

x (@ ) A(ba*—1) b - 1)]

=1

>

If 8 ¥ (p — 1), put the results of the Lemma 3, Lemma 4, Lemma 5 and Lemma 7 into (3.3) we
obtain
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p-1

Z}((as +ma

a=1

p-1

2,

m=1

pz(; (ma +a)

, g
= 4p-p(p-3)+ (W) + (D) [Z (@) ZXz (b°a* = 1) xab - 1)]

1 =

Combining the above two formulas is easy to get
P—

Z

P

2p_] A 2
ma’ +a
S (e + ma) IR

a=1 a=0

= 4p’(p-3)+0(p*) =4p’ + 0(p?). (3.4)

If y is a fourth character mod p with y° = yj, then from Lemma 1 and the method of proving (3.4) we
also have the asymptotic formula

p-1|p-1

Z Z}( a +ma
m=1|a=1

It is clear that Theorem 2 follows from (3.4) and (3.5).
This completes the proofs of our all results.

=3p*+0(p?). (3.5)

4. Conclusions

The main results of this paper are two theorems. Let p be an odd prime with 4 1 (p — 1), for any
non-principal even character y mod p, the Theorem 1 gives exact calculating formulas for (1.2) with
h=5and k = 1. Let p be an odd prime with 4 | (p — 1), for any fourth character y mod p, the Theorem
2 gives asymptotic formulas for (1.2) with 2 = 5 and k = 1. As a supplement, the value of (1.2) with
h =5 and k = 1 in the trivial cases are given in the Some notes.
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